

Compare Responses

Event #: 3391

Event Name: Overhead Door Maintenance
and Repair

Number Of Lines: 19

Status: Pending Award

<p>Performance Evaluation Score</p> <p>Supplier Total Bid Amount</p> <p>Total Event Score</p>	<p style="text-align: center;">Advanced Door Systems, Inc</p> <p style="text-align: center;">Klas Andersson</p> <p style="text-align: center;">(Award All valid only when output is same for all lines)</p> <p style="text-align: right;">27,250.00</p>
<p>Line 1:Open:102283 Output: Contract</p> <p>Award Quantity 0.0000</p> <p>Line Quantity 4.0000 QTLY</p> <p>UnitPrice</p> <p>ExtendedPrice</p> <p>Total Line Score</p> <p>Delivery Date</p> <p>UOM Detail</p> <p>Vendor Item</p> <p>Vendor Item Description</p>	<p style="text-align: right;">0.0000</p> <p style="text-align: right;">4.0000</p> <p style="text-align: right;">225.00000</p> <p style="text-align: right;">900.00</p> <p style="text-align: right;">102283</p>
<p>Line 2:Open:102284 Output: Contract</p> <p>Award Quantity 0.0000</p> <p>Line Quantity 4.0000 QTLY</p> <p>UnitPrice</p>	<p style="text-align: right;">0.0000</p> <p style="text-align: right;">4.0000</p> <p style="text-align: right;">150.00000</p>

Compare Responses continued...

ExtendedPrice	600.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102284
Vendor Item Description	
Line 3:Open:102285 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTY	4.0000
UnitPrice	450.00000
ExtendedPrice	1,800.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102285
Vendor Item Description	
Line 4:Open:102286 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTY	4.0000
UnitPrice	300.00000
ExtendedPrice	1,200.00
Total Line Score	

Delivery Date UOM Detail Vendor Item Vendor Item Description	 102286
Line 5:Open:102287 Output: Contract Award Quantity 0.0000 Line Quantity 4.0000 QTLY UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	 0.0000 4.0000 450.00000 1,800.00 102287
Line 6:Open:102288 Output: Contract Award Quantity 0.0000 Line Quantity 4.0000 QTLY UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item	 0.0000 4.0000 450.00000 1,800.00 102288

Vendor Item Description	
Line 7:Open:102289 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTY	4.0000
UnitPrice	150.00000
ExtendedPrice	600.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102289
Vendor Item Description	
Line 8:Open:102290 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTY	4.0000
UnitPrice	150.00000
ExtendedPrice	600.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102290
Vendor Item Description	
Line 9:Open:102291 Output: Contract	

Compare Responses continued...

Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTLY	4.0000
UnitPrice	725.00000
ExtendedPrice	2,900.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102291
Vendor Item Description	
Line 10:Open:102292 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTLY	4.0000
UnitPrice	150.00000
ExtendedPrice	600.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102292
Vendor Item Description	
Line 11:Open:102293 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTLY	4.0000
UnitPrice	150.00000

ExtendedPrice	600.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102293
Vendor Item Description	
Line 12:Open:STATION 12- 1205 BRADLEY BLVD. Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTLY	4.0000
UnitPrice	225.00000
ExtendedPrice	900.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	
Vendor Item Description	
Line 13:Open:102295 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTLY	4.0000
UnitPrice	450.00000
ExtendedPrice	1,800.00
Total Line Score	

Compare Responses continued...

Delivery Date UOM Detail Vendor Item Vendor Item Description	 102295
Line 14:Open:102296 Output: Contract Award Quantity 0.0000 Line Quantity 4.0000 QTLY UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	 0.0000 4.0000 75.00000 300.00 102296
Line 15:Open:102297 Output: Contract Award Quantity 0.0000 Line Quantity 4.0000 QTLY UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item	 0.0000 4.0000 75.00000 300.00 102297

Vendor Item Description	
Line 16:Open:STATION 16 - 6 W. HENRY ST. Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 4.0000 QTY	4.0000
UnitPrice	225.00000
ExtendedPrice	900.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	
Vendor Item Description	
Line 17:Open:102298 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 10.0000 EA	10.0000
UnitPrice	300.00000
ExtendedPrice	3,000.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102298
Vendor Item Description	
Line 18:Open:HR LABOR RATE (3 PERSON CREW) Output: Contract	

Compare Responses continued...

Award Quantity 0.0000	0.0000
Line Quantity 1.0000 HR	1.0000
UnitPrice	150.00000
ExtendedPrice	150.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	
Vendor Item Description	
Line 21:Open:102300 Output: Contract	
Award Quantity 0.0000	0.0000
Line Quantity 1.0000 LO	1.0000
UnitPrice	6,500.00000
ExtendedPrice	6,500.00
Total Line Score	
Delivery Date	
UOM Detail	
Vendor Item	102300
Vendor Item Description	